
c)

1 86 ∗ 25 5 ∗ 84

245 ∗ 75 4 ∗ 362
=

1 86 ∗ 25 5 ∗ 84

35 ∗ 85 ∗ 34 ∗ 25 4 ∗ 2 2 ∗ 1 8 2
=

1 86− 2 ∗ 25 5− 4

35 ∗ 85− 4 ∗ 34 ∗ 2 2

=
1 84 ∗ 25

35 + 4 ∗ 8 ∗ 22
=

24 ∗ ( 32 ) 4 ∗ 25

39 ∗ 23 ∗ 22
=

24 ∗ 38 ∗ 25

39 ∗ 25
=

25

3 ∗ 2

d)

225 3 ∗ 1 65 ∗ 28 ∗ 4

964 ∗ 35 3 ∗ 2002
=

( 93 ∗ 25 3) ∗ 1 65 ∗ ( 4 ∗ 7) ∗ 4

( 64 ∗ 1 64) ∗ ( 5 3 ∗ 73 ) ∗ ( 82 ∗ 25 2 )

=
( 93 ∗ 25 3− 2 ) ∗ 1 65− 4 ∗ ( 4) ∗ 4

( 64) ∗ ( 5 3 ∗ 73− 1 ) ∗ ( 82 )
=

93 ∗ 25 ∗ 1 6 ∗ 1 6

64 ∗ 5 ∗ 25 ∗ 72 ∗ 8 2
=

36 ∗ ( 2 ∗ 8) ∗ ( 2 ∗ 8)

( 24 ∗ 34) ∗ 5 ∗ 72 ∗ 8 2

=
36− 4 ∗ 22

24 ∗ 5 ∗ 72
=

32

22 ∗ 5 ∗ 72

1


